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Q: Aboatrows h;gnstream }:overs a distance o‘ m in@ hrs yvhile it covers the same distance
upstream iﬁSer. Then speed of the boat in still water is :
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Q: The greatest number that can be subtracted from 10000 so that the remainder may be divisible by

32, 36, 48 and 54 is-
~AR) 9136

(B) 9216

(C) 9316

(D) 9236

—— e

% @

36= ?.9'7‘32
4g: 2fA32.

e )

10000

;::;jﬁfifi_,

913

2

L - 19)\2

cH
—
= 22K 9-"|’

= Q64



Q: Three Alarm make a beep after every 48 sec, 72 sec and 108 sec respectively. They beeped 27

together at 10 a.m. The time when they will next make a beep Together at the earliest is %
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Q: Th4 average score obtained by Sanw Rumella has an average of 23 marks so

far, but has competed in only 8 Tests. What average will Rumela have to earn in the remaining 4 Tests
to be equal to Raghuveers average?
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Q: Rahul and Rohan enter into a partnership with their capitals in the ratio 7:9. At the end of 8"
month, Rahul withdraws his capital. If they receive The profits in the ratio 8:9, find how long Rohan's
—_

capital was used.
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Q : Four numbers, when arranged in ascending order, are w, x, y and z. The average of the smallest
three numbers is 25.5 while the average of the largest three was 29.5. What is the range of the data?
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Q : Four coins whose diameter is 12.6 cm are placed in such a way that one coin touches the other
coin, find the area between them.
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Q: Ahexagon is inscribed in a circle of radius 14 cm, three of its alternates sides are 22 cm and each

and other sides are equal find the Tength of other three sides? ¢ L - o _
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(A) T4 cm
(B) 8cm
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(D) 4cm

Q: The angle of elevation of the foot of a house from the top of a tower is twice the angle made with

the top of this house. If the height of the tower is 75 meters. And the elevation angle of the foot of the
v

Rouse from the top of the tower is 60 degrees. So what is the height of the house?

(A) 25 meter
(B) 37.5 meter
(CY50 meter

(D) 60 meter

Q: 39 persons can repair a road in 12 days, working 5 hours a day. In h will 30 persons,
6 hours a day, complete the work? /rws( WNU“
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(D) 17 12

sin 6 cosec 0 .
f —————— = 4 then Find the value of tan 8 ?
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